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QID : 1 - Select the related word/letters/number from the given alternatives.

Hirakund : Mahanadi : : Tehri Dam : ?

�दए गए �वक�प� म� से संबं�धत श�द/अ�र/सं�या को चु�नए।

�हराकंुड : महानद� : : �टहरी बाँध : ?
Options:
1) Damodar
दामोदर
2) Bhagirathi
भागीरथी
3) Yamuna
यमुना
4) Son
सोन

Correct Answer: Bhagirathi
भागीरथी

Candidate Answer: Bhagirathi
भागीरथी

QID : 2 - Select the related word/letters/number from the given alternatives.

LG : WM : : DC : ?

�दए गए �वक�प� म� से संबं�धत श�द/अ�र/सं�या को चु�नए।

LG : WM : : DC : ?
Options:
1) IJ
2) EF
3) GE
4) LI
Correct Answer: GE
Candidate Answer: [ NOT ANSWERED ]

QID : 3 - Select the related word/letters/number from the given alternatives.

IM : RZ : : HF : ?

�दए गए �वक�प� म� से संबं�धत श�द/अ�र/सं�या को चु�नए।

IM : RZ : : HF : ?
Options:
1) MP
2) OK
3) PL
4) QR
Correct Answer: PL
Candidate Answer: QR

QID : 4 - Select the related word/letters/number from the given alternatives.

16 : 40 : : 20 : ?

�दए गए �वक�प� म� से संबं�धत श�द/अ�र/सं�या को चु�नए।

16 : 40 : : 20 : ?
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Options:
1) 29
2) 21
3) 50
4) 60
Correct Answer: 50
Candidate Answer: 50
 
QID : 5 - Find out the odd word/letters/number/number pair from the given alternatives.

�दए गए �वक�प� म� से �वषम श�द/अ�र/सं�या/सं�या यु�म चु�नए।

Options:
1) Mohammad Azharuddin
मोह�मद अज़ह���न
2) Sunil Gavaskar
सुनील गाव� कर
3) Dhyan Chand
�यान चंद
4) Yuvraj Singh
युवराज �स�ह

Correct Answer: Dhyan Chand
�यान चंद

Candidate Answer: Dhyan Chand
�यान चंद

 
QID : 6 - Find out the odd word/letters/number/number pair from the given alternatives.

�दए गए �वक�प� म� से �वषम श�द/अ�र/सं�या/सं�या यु�म चु�नए।

Options:
1) EV
2) GT
3) JQ
4) MO
Correct Answer: MO
Candidate Answer: MO
 
QID : 7 - Find out the odd word/letters/number/number pair from the given alternatives.

�दए गए �वक�प� म� से �वषम श�द/अ�र/सं�या/सं�या यु�म चु�नए।

Options:
1) 4246
2) 8314
3) 9546
4) 7284
Correct Answer: 8314
Candidate Answer: [ NOT ANSWERED ]
 
QID : 8 - Find out the odd word/letters/number/number pair from the given alternatives.

�दए गए �वक�प� म� से �वषम श�द/अ�र/सं�या/सं�या यु�म चु�नए।

Options:
1) 78, 26
2) 19, 20
3) 20, 40
4) 36, 12
Correct Answer: 19, 20
Candidate Answer: 19, 20
 
QID : 9 - A series is given with one term missing. Choose the correct alternative from the given ones that will complete the series.

Constable, Head constable, ? , Inspector

एक अनु�म �दया गया है, �जसम� से एक पद लु�त है। �दए गए �वक�प� म� से वह सही �वक�प चु�नए जो अनु�म को पूरा करे।

कां�टेबल, हेड कां�टेबल, ? , इं�पे�टर

Options:
1) Deputy Superintendent of Police
पु�लस उपाधी�क
2) Superintendent of Police
पु�लस अधी�क
3) Sub-inspector
उप �नरी�क
4) Assistant Commissioner of Police
सहायक पु�लस आयु�



Correct Answer: Sub-inspector
उप �नरी�क

Candidate Answer: Sub-inspector
उप �नरी�क

 
QID : 10 - A series is given with one term missing. Choose the correct alternative from the given ones that will complete the series.

3, 6, 9, 36, 41, ?

एक अनु�म �दया गया है, �जसम� से एक पद लु�त है। �दए गए �वक�प� म� से वह सही �वक�प चु�नए जो अनु�म को पूरा करे।

3, 6, 9, 36, 41, ?
Options:
1) 244
2) 225
3) 246
4) 410
Correct Answer: 246
Candidate Answer: [ NOT ANSWERED ]
 
QID : 11 - In the following question, two statements are given each followed by two conclusions I and II. You have to consider the statements to be true even if they
seem to be at variance from commonly known facts. You have to decide which of the given conclusions, if any, follows from the given statements.

Statements:
(I) Some scooters are trucks.
(II) All trucks are trains.

Conclusion:
(I) Some scooters are trains.
(II) No truck is a scooter.

�न�न�ल�खत �� म�, दो कथन �दए गए ह� �जनके आगे दो �न�कष� I और II �नकाले गए ह�। आपको मानना है �क कथन स�य है चाहे वे सामा�यतः �ात त�य� से �भ� �तीत होते ह�। आपको �नण�य करना है �क �दए गए
�न�कष� म� से कौन सा/कौन से �न��त �प से कथन� �ारा सही �नकाला जा सकता है/सकते ह�, य�द कोई हो।

कथनः
(I) कुछ �कूटर, �क ह�।
(II) सभी �क, रेलगाड़ी ह�।

�न�कष�ः
(I) कुछ �कूटर, रेलगाड़ी ह�।
(II) कोई �क, �कूटर नह� है।

Options:
1) Conclusion I follows
�न�कष� I सही है
2) Conclusion II follows
�न�कष� II सही है
3) Neither I nor II follows
न तो I और न ही II सही है
4) Both I and II follows
I और II दोन� सही ह�

Correct Answer: Conclusion I follows
�न�कष� I सही है

Candidate Answer: Both I and II follows
I और II दोन� सही ह�

 
QID : 12 - A series is given with one term missing. Choose the correct alternative from the given ones that will complete the series.

JLN, RTV, ZBD, ?

एक अनु�म �दया गया है, �जसम� से एक पद लु�त है। �दए गए �वक�प� म� से वह सही �वक�प चु�नए जो अनु�म को पूरा करे।

JLN, RTV, ZBD, ?
Options:
1) SUW
2) HJL
3) GHI
4) TVX
Correct Answer: HJL
Candidate Answer: HJL
 
QID : 13 - A series is given with one term missing. Choose the correct alternative from the given ones that will complete the series.

XV, BA, JK, ?

एक अनु�म �दया गया है, �जसम� से एक पद लु�त है। �दए गए �वक�प� म� से वह सही �वक�प चु�नए जो अनु�म को पूरा करे।

XV, BA, JK, ?



Options:
1) MP
2) VS
3) VZ
4) UD
Correct Answer: VZ
Candidate Answer: [ NOT ANSWERED ]
 
QID : 14 - If yesterday was Tuesday, then what day of the week will the tenth day from today be? 

य�द कल मंगलवार था, तो आज से दसवाँ �दन स�ताह का कौन-सा �दन होगा?
Options:
1) Friday
शु�वार
2) Sunday
र�ववार
3) Monday
सोमवार
4) Saturday
श�नवार

Correct Answer: Saturday
श�नवार

Candidate Answer: Saturday
श�नवार

 
QID : 15 - Arrange the given words in the sequence in which they occur in the dictionary.

i. Collaborate
ii. Constant
iii. Correspondence
iv. Combination

�न�न�ल�खत श�द� को श�दकोश म� आने वाले �म के अनुसार �लख�।

i. Collaborate
ii. Constant
iii. Correspondence
iv. Combination
Options:
1) iv, ii, i, iii
2) iii, ii, iv, i
3) iv, iii, i, ii
4) i, iv, ii, iii
Correct Answer: i, iv, ii, iii
Candidate Answer: i, iv, ii, iii
 
QID : 16 - In a certain code language, 'TAPERECORDER' is written as '!#&@^@?%^+@^'. How is 'REPORT' written in that code language?

एक �व�श� कोड भाषा म� 'TAPERECORDER' को '!#&@^@?%^+@^' �लखा जाता है। इस कोड भाषा म� 'REPORT' को �कस �कार �लखा जाएगा?
Options:
1) ^@&^%!

2) ^@&%!

3) ^@&%^!

4) ^@%&^!
Correct Answer: ^@&%^!
Candidate Answer: ^@&%^!
 



QID : 17 - 

Options:
1) 81

2) 361

3) 289

4) 225
Correct Answer: 225
Candidate Answer: 225
 
QID : 18 - If "*" denotes "added to", "&" denotes "divided by", "@" denotes "multiplied by" and "%" denotes "subtracted from", then 153 & 17 @ 6 % 9 * 18 = ? 

य�द "*" का अथ� "जोड़" है, "&" का अथ� "भाग" है,"@" का अथ� "गुणा" है और "%" का अथ� "घटाना" है, तो 153 & 17 @ 6 % 9 * 18 = ?
Options:
1) 63

2) 98

3) 93

4) 10
Correct Answer: 63
Candidate Answer: 63
 
QID : 19 - In the following question, which one set of letters when sequentially placed at the gaps in the given letter series shall complete it? 

d_fde_ _deee_

�न�न�ल�खत �� म� अ�र� का कौन सा समूह खाली �थान� पर �मवार रखने से द� गई अ�र �ृंखला को पूरा करेगा? 

d_fde_ _deee_
Options:
1) eeff

2) cdef

3) ddee

4) deee
Correct Answer: eeff
Candidate Answer: eeff
 
QID : 20 - A man travels 25 km towards the west and then turns 90° to his left and travels another 4 km. Finally, he turns left and covers 25 km. In which direction is he
now from his original position?

एक ��� प��म �दशा क� ओर 25 �क.मी. जाता है और �फर 90 �ड�ी पर अपने बाए ंमुड़कर 4 �क.मी जाता है। अंत म�, वह बाए ंमुड़कर 25 �क.मी. जाता है। वह अब अपने मूल �थान से �कस �दशा म� है?
Options:
1) West
प��म
2) East
पूव�
3) South
द��ण
4) North
उ�र

Correct Answer: South
द��ण

Candidate Answer: South
द��ण

 



QID : 21 - 

Options:
1) 40, 33, 03, 88

2) 99, 23, 56, 00

3) 59, 42, 12, 79

4) 13, 11, 30, 41
Correct Answer: 13, 11, 30, 41
Candidate Answer: 13, 11, 30, 41
 
QID : 22 - Introducing a girl, a man says, "She is the daughter of the daughter of my wife". How is man related to the girl? 

एक लड़क� का प�रचय कराते �ए एक ��� कहता है, "वह मेरी प�नी क� बेट� क� बेट� है।" वह ��� उस लड़क� से कैसे संबं�धत है?
Options:
1) Maternal uncle
मामा
2) Son
बेटा
3) Maternal grandfather
नाना
4) Father
�पता

Correct Answer: Maternal grandfather
नाना

Candidate Answer: Maternal grandfather
नाना

 



QID : 23 - 

Options:
1) 

2) 

3) 

4) 

Correct Answer: 

Candidate Answer: 

 
QID : 24 - Identify the diagram that best represents the relationship among the given classes.

Olympic games, Tennis, Wrestling, Ludo

वह आरेख चु�नए जो नीचे �दए गए वग� के बीच के संबंध का सही �न�पण करता है।

ओलं�पक खेल, टे�नस, कु�ती, लुडो



Options:
1) 

2) 

3) 

4) 

Correct Answer: 

Candidate Answer: [ NOT ANSWERED ]
 
QID : 25 - 



Options:
1) 

2) 

3) 

4) 

Correct Answer: 

Candidate Answer: 

 
QID : 26 - Group of 4 bits forms a

4 �बट्स का एक समूह एक________बनाता है।

Options:
1) Byte
बाईट
2) Nibble
�नबल
3) Gigabyte
गीगाबाइट
4) Terabyte
टेराबाईट

Correct Answer: Nibble
�नबल

Candidate Answer: Nibble
�नबल

 
QID : 27 - Barograph was invented by

वायुदाबलेखी (बैरो�ाफ़) का_________�ारा आ�व�कार �कया गया था।



Options:
1) Lucien Vidi
लू�सयां वीद�
2) John Venn
जॉन वेन
3) Theophilus Van Kannel
�थयो�फ़लस वान केनल
4) Lewis Urry
लुईस उरी

Correct Answer: Lucien Vidi
लू�सयां वीद�

Candidate Answer: Lewis Urry
लुईस उरी

 
QID : 28 - Diabetes is caused by

मधुमेह होने का कारण है

Options:
1) Excess of insulin 
इंसु�लन क� ब�लता
2) Low production of Insulin
इंसु�लन का कम उ�पादन
3) Malfunction of liver
यकृत के काय� म� गड़बड़ी होना
4) Higher production of bilirubin
�बलु��बन का उ�चतर उ�पादन

Correct Answer: Low production of Insulin
इंसु�लन का कम उ�पादन

Candidate Answer: Excess of insulin 
इंसु�लन क� ब�लता

 
QID : 29 - Tectona grandis Linn is the scientific name of

टे�टोना �ै��डस �लन _______ का वै�ा�नक नाम है।

Options:
1) Guava
अम�द
2) Teak
सागौन
3) Amla
आंवला
4) Chiku
चीकू

Correct Answer: Teak
सागौन

Candidate Answer: [ NOT ANSWERED ]
 
QID : 30 - Sea-Anemones belongs to the phylum

सी-एनीमो�स________ �जा�त के अंतग�त आते ह�।

Options:
1) Arthropoda
ए��ोपोडा
2) Cnidaria
नीड़े�रया
3) Porifera
पोरीफेरा
4) Mollusca
मोल�क

Correct Answer: Cnidaria
नीड़े�रया

Candidate Answer: [ NOT ANSWERED ]
 
QID : 31 - Which among the following is present inside the nucleus of an atom?

�न�न�ल�खत म� से कौन �कसी परमाणु के के��क के अंदर ��थत होते ह�?
Options:
1) Protons and Neutrons
�ोटॉ�स और �यू�ॉ�स
2) Electrons and Protons
इले��ॉ�स और �ोटॉ�स
3) Neutrons and Electrons
�यू�ॉ�स और इले��ॉ�स
4) Neutrons, Protons, Electrons
�यू�ॉ�स, �ोटॉ�स, इले��ॉ�स



Correct Answer: Protons and Neutrons
�ोटॉ�स और �यू�ॉ�स

Candidate Answer: Electrons and Protons
इले��ॉ�स और �ोटॉ�स

 
QID : 32 - What is baking soda?

बे�क�ग सोडा �या होता है?
Options:
1) Aluminium bicarbonate
ए�यु�म�नयम बाइकाब�नेट
2) Sodium isolate
सो�डयम आयसोलेट
3) Sodium bicarbonate
सो�डयम बाइकाब�नेट
4) Aluminium sulphate
ए�यु�म�नयम स�फेट

Correct Answer: Sodium bicarbonate
सो�डयम बाइकाब�नेट

Candidate Answer: Sodium bicarbonate
सो�डयम बाइकाब�नेट

 
QID : 33 - Elephanta Caves is in

एलीफ� टा क� गुफाए_ं_______म� है।

Options:
1) Maharashtra
महारा�
2) Orissa
ओ�ड़शा
3) Rajasthan
राज�थान
4) Sikkim
�स��कम

Correct Answer: Maharashtra
महारा�

Candidate Answer: Maharashtra
महारा�

 
QID : 34 - Which of the following is a classical dance from North India? 

�न�न म� से कौन सा उ�र भारत का एक शा��ीय नृ�य है?
Options:
1) Bharatanatyam
भरतना�म
2) Kuchipudi 
कु�चपुड़ी
3) Kathak 
कथक
4) Kathakali
कथकली

Correct Answer: Kathak 
कथक

Candidate Answer: Kuchipudi 
कु�चपुड़ी

 
QID : 35 - If demand curve for camping tents is D = 100000 - 17P and supply curve is S = 50000 + 8P, find the equilibrium Price?

य�द कै��पंग ट�ट के �लए मांग व� है D = 100000 - 17P और आपू�त� व� S= 50000 + 8P तो संतुलन क�मत �ात कर�।

Options:
1) Rs. 1000 
�. 1000
2) Rs. 2000
�. 2000
3) Rs. 4000
�. 4000
4) Rs. 500
�. 500
Correct Answer: Rs. 2000
�. 2000
Candidate Answer: [ NOT ANSWERED ]
 
QID : 36 - Value of Total Goods and Services produced in a country is its _____________ .

�कसी देश म� उ�पादन �कये गये संपूण� सामान और सेवा� का मू�य उसका ______ कहलाता है।



Options:
1) Gross Domestic Product
सकल घरेलू उ�पाद
2) Gross Revenue Income
सकल राज�व आय
3) Total Goods Revenue
कुल सामान का राज�व
4) Total Income
कुल आय

Correct Answer: Gross Domestic Product
सकल घरेलू उ�पाद

Candidate Answer: Gross Domestic Product
सकल घरेलू उ�पाद

 
QID : 37 - Dissolved oxygen in rivers is close to _________ parts per million.

न�दय� म� घुली �ई ऑ�सीजन क� मा�ा ��त �म�लयन ______ भाग होती है।

Options:
1) 125

2) 25

3) 5

4) 0
Correct Answer: 5
Candidate Answer: [ NOT ANSWERED ]
 
QID : 38 - Which of the following is also known as a Common Water Hyacinth?

�न�न�ल�खत म� से �कसे आम जलकंुभी भी कहा जाता है?
Options:
1) Pistia
�प��टया
2) Opuntia
ओपं�शया
3) Aegilops
ए�जलो�स
4) Echhornia
एको�न�या

Correct Answer: Echhornia
एको�न�या

Candidate Answer: [ NOT ANSWERED ]
 
QID : 39 - Rukmini Devi Arundale is associated with _______.

���मणी देवी अ�ंडेल _______ के साथ जुड़ी �ई ह�।

Options:
1) Kathak
कथक
2) Bharatnatyam
भरतना�म
3) Kuchipudi
कु�चपुड़ी
4) Bhangra
भांगड़ा

Correct Answer: Bharatnatyam
भरतना�म

Candidate Answer: [ NOT ANSWERED ]
 
QID : 40 - Which state does not share a common border with Haryana?

कौन सा रा�य ह�रयाणा के साथ अपनी सीमा साझा नही करता?
Options:
1) Uttar Pradesh
उ�र�देश
2) Madhya Pradesh
म�य�देश
3) Himachal Pradesh
�हमाचल �देश
4) Rajasthan
राज�थान

Correct Answer: Madhya Pradesh
म�य�देश

Candidate Answer: Madhya Pradesh
म�य�देश



 
QID : 41 - Which planet is also referred to as a "Dwarf planet"?

�कस �ह को एक "बौना �ह" कहकर भी संबो�धत �कया जाता है?
Options:
1) Pluto
�लूटो
2) Mercury
बुध
3) Jupiter
बृह�प�त
4) Saturn
श�न

Correct Answer: Pluto
�लूटो

Candidate Answer: [ NOT ANSWERED ]
 
QID : 42 - Who was the founder of the Brahmo Samaj, founded in 1828?

वष� 1828 म� �था�पत �� समाज के सं�थापक कौन थे?
Options:
1) Rabindranath Tagore
र�ब��नाथ टैगोर
2) Subhash Chandra Bose
सुभाषचं� बोस
3) Sardar Vallabh Bhai Patel
सरदार व�लभभाई पटेल
4) Raja Ram Mohan Roy 
राजा राममोहन रॉय

Correct Answer: Raja Ram Mohan Roy 
राजा राममोहन रॉय

Candidate Answer: Raja Ram Mohan Roy 
राजा राममोहन रॉय

 
QID : 43 - Shah Jahan built Taj Mahal in memory of ___________.

शाहजहाँ ने ताजमहल का �नमा�ण ______ क� याद म� करवाया था।

Options:
1) Ruqayya Sultan Begum
�क�या सु�तान बेगम
2) Jodha Bai
जोधाबाई
3) Mumtaz Mahal
मुमताज महल
4) Nur Jahan
नूरजहाँ

Correct Answer: Mumtaz Mahal
मुमताज महल

Candidate Answer: Mumtaz Mahal
मुमताज महल

 
QID : 44 - Which actor won the best actor award in the 1st Filmfare Awards?

�थम �फ�मफेयर अवाड्�स म� �कस अ�भनेता ने सव��े� अ�भनेता का अवाड� जीता था?
Options:
1) Dev Anand
देवआनंद
2) Rajesh Khanna
राजेश ख�ा
3) Dilip Kumar
�दलीप कुमार
4) Amitabh Bachchan
अ�मताभ ब�चन

Correct Answer: Dilip Kumar
�दलीप कुमार

Candidate Answer: Dilip Kumar
�दलीप कुमार

 
QID : 45 - Which of the following physical quantities is a scalar quantity?

�न�न�ल�खत भौ�तक मा�ा� म� से कौन सी एक अ�दश रा�श है?



Options:
1) Weight
भार
2) Impulse
आवेग
3) Young's Modulus
यंग का मापांक
4) acceleration
�वरण

Correct Answer: Young's Modulus
यंग का मापांक

Candidate Answer: [ NOT ANSWERED ]
 
QID : 46 - Which among the following elements is a liquid at room temperature?

�न�न�ल�खत त�व� म� से कौन सा त�व कमरे के तापमान पर �व �प म� होता है?
Options:
1) Phosphorus
फा�फोरस
2) Mercury
पारा
3) Sodium
सो�डयम
4) Aluminium
ए�यु�म�नयम

Correct Answer: Mercury
पारा

Candidate Answer: Mercury
पारा

 
QID : 47 - How many maximum terms, a person can serve as Prime Minister of India?

कोई भी ��� भारतीय �धानमं�ी के �प म� अ�धकतम �कतनी बार सेवारत हो सकता है?
Options:
1) 3

2) 5

3) 7

4) No limit
कोई सीमा नह� है।

Correct Answer: No limit
कोई सीमा नह� है।

Candidate Answer: No limit
कोई सीमा नह� है।

 
QID : 48 - If the president declares emergency then this proclamation must be approved by the Parliament within _____.

य�द रा�प�त आपातकाल क� घोषणा करते ह�, तो इस उ�ोषणा को संसद �ारा ______ के भीतर समथ�न देना ज�री है।

Options:
1) 1 year
1 साल
2) 6 months
6 माह
3) 3 months
3 माह
4) one month
1 माह

Correct Answer: one month
1 माह

Candidate Answer: 6 months
6 माह

 
QID : 49 - Deepika Kumari is associated with _______.

द��पका कुमारी ______ से संबं�धत है।

Options:
1) Archery
तीरंदाजी
2) Wrestling
कु�ती
3) Boxing
मु�केबाजी
4) Swimming
तैराक�



Correct Answer: Archery
तीरंदाजी

Candidate Answer: Swimming
तैराक�

 
QID : 50 - The Arthashastra was written by

अथ�शा�� ______ ने �लखा था।

Options:
1) Chanakya
चाण�य
2) Kalidasa
का�लदास
3) Harsha Vardhana
हष�वध�न
4) Vatsyayana
वा�सायन

Correct Answer: Chanakya
चाण�य

Candidate Answer: Chanakya
चाण�य

 
QID : 51 - In ΔABC, D and E are points on side AB and AC respectively. DE is parallel to BC. If lengths of AD, DB and DE are 10 cm, 5 cm and 6 cm respectively. What is
the length of BC?

ΔABC म�, D और E �मशः AB और AC पर ��थत �ब�� ह�। DE, BC के समानांतर है। य�द AD, DB और DE क� लंबाई �मशः 10 से.मी., 5 से.मी. और 6 से.मी. है तो BC क� लंबाई �या ह�?
Options:
1) 9 cm
9 से.मी.
2) 2 cm
2 से.मी.
3) 3 cm
3 से.मी.
4) 11 cm
11 से.मी.
Correct Answer: 9 cm
9 से.मी.
Candidate Answer: 3 cm
3 से.मी.
 
QID : 52 - If 2x - 1 < 5x + 2 and 2x + 5 < 6 - 3x, then x can take which of the following values?

य�द 2x - 1 < 5x + 2 और 2x + 5 < 6 - 3x, �फर x का �न�न मान� म� से �या मान होगा?
Options:
1) 1
2) 0
3) 2
4) -2
Correct Answer: 0
Candidate Answer: 0
 
QID : 53 - A carpenter can build a cupboard in 60 hours. After 15 hours he takes a break. What fraction of the cupboard is yet to be built?

एक बढ़ई एक अलमारी को 60 घंटे म� बनाता है। 15 घंटे बाद वह �वराम लेता है. अलमारी का �कतना भाग अभी भी बनाना बाक� है?
Options:
1) 0.5

2) 0.9

3) 0.75

4) 0.25
Correct Answer: 0.75
Candidate Answer: 0.75
 
QID : 54 - There is 75% increase in an amount in 5 years at simple interest. What will be the compound interest of Rs 40000 after 2 years at the same rate?

एक रा�श म� 5 वष� म� साधारण �याज पर 75% क� वृ�� होती है। उसी दर पर 2 वष� म� 40000 �पय� का च�वृ�� �याज �कतना होगा?



Options:
1) Rs 25800
25800 �
2) Rs 32250
32250 �
3) Rs 12900
12900 �
4) Rs 19350
19350 �
Correct Answer: Rs 12900
12900 �
Candidate Answer: Rs 12900
12900 �
 
QID : 55 - Which of the following equations has the sum of its roots as 5?

�न�न�ल�खत समीकरण� म� से �कसके मूल का योग 5 है?
Options:
1) x2 - 5x + 6 = 0

2) x2 - 5x - 6 = 0

3) x2 + 5x + 6 = 0

4) x2 + 5x - 6 = 0

Correct Answer: x2 - 5x + 6 = 0
Candidate Answer: [ NOT ANSWERED ]
 
QID : 56 - The base angle of an isosceles trapezium is 45°. If the shorter side and both the equal sides are 10 cm each, what is the area of the trapezium?

एक सम��बा� समल�ब के आधार का कोण 45° है। य�द छोट� भुजा और दो बराबर भुजाए ँ��येक 10 से.मी. ह�, तो उस समल�ब का �े�फल �या होगा?
Options:
1) 50√2 + 50 sq cm
50√2 + 50 वग� से.मी.
2) 50√2 + 100 sq cm
50√2 + 100 वग� से.मी.
3) 100√2 + 50 sq cm
100√2 + 50 वग� से.मी.
4) 100√2 + 100 sq cm
100√2 + 100 वग� से.मी.
Correct Answer: 50√2 + 50 sq cm
50√2 + 50 वग� से.मी.
Candidate Answer: [ NOT ANSWERED ]
 
QID : 57 - Rahul sells a machine for Rs 50 lakhs at a loss. Had he sold it for Rs 60 lakh, his gain would have been 7 times the earlier loss. What is the cost price of the
machine?

रा�ल एक मशीन 50 लाख �पए म� घाटे म� बेचता है। य�द उसने उसे 60 लाख म� बेचा होता, तो उसका लाभ उसके पूव� घाटे का 7 गुना होता। मशीन का �य मू�य �या है?
Options:
1) Rs 51.25 lakhs
51.25 लाख �
2) Rs 58.75 lakhs
58.75 लाख �
3) Rs 67.14 lakhs
67.14 लाख �
4) Rs 43.75 lakhs
43.75 लाख �
Correct Answer: Rs 51.25 lakhs
51.25 लाख �
Candidate Answer: Rs 51.25 lakhs
51.25 लाख �
 
QID : 58 - If the radius of a circle is increased by 27%, then its area will increase by

य�द एक वृ� क� ���या म� 27% क� वृ�� क� जाती है, तो उसका �े�फल �कतने ��तशत बढ़ जाएगा?
Options:
1) 61.29 percent
61.29 ��तशत
2) 54 percent
54 ��तशत
3) 27 percent
27 ��तशत
4) 30.645 percent
30.645 ��तशत



Correct Answer: 61.29 percent
61.29 ��तशत

Candidate Answer: 54 percent
54 ��तशत

 
QID : 59 - If Girilal's salary is 11/7 times of Hariram's and Shekhar's is 3/4 times of Hariram's, what is the ratio of Girilal's salary to Shekhar's salary.

य�द �ग�रलाल का वेतन ह�रराम के वेतन से 11/7 गुना है और शेखर का वेतन ह�रराम के वेतन से 3/4 गुना है, तो �ग�रलाल के वेतन का शेखर के वेतन से अनुपात �या होगा?
Options:
1) 44:21
2) 28:33
3) 33:28
4) 21:44
Correct Answer: 44:21
Candidate Answer: 44:21
 

QID : 60 - (cosA + sinA)2 + (cosA - sinA)2 is equals to

(cosA + sinA)2 + (cosA - sinA)2 �कसके बराबर है?
Options:
1) 1
2) 1/2
3) 2
4) 0
Correct Answer: 2
Candidate Answer: 2
 
QID : 61 - If a merchant offers a discount of 20% on the list price, then she makes a loss of 16%. What % profit or % loss will she make if she sells goods at a discount
of 10% of the list price?

य�द एक �ापारी सूची मू�य पर 20% क� छूट �दान करती है, तो उसे 16% का नुकसान होता है। य�द वह सूची मू�य पर 10% क� छूट पर माल बेचती है तो उसे �कतने % लाभ या �कतने % हा�न होगी?
Options:
1) 14 percent profit
14 ��तशत लाभ
2) 20 percent profit
20 ��तशत लाभ
3) 50 percent profit
50 ��तशत लाभ
4) 5.5 percent loss
5.5 ��तशत हा�न

Correct Answer: 5.5 percent loss
5.5 ��तशत हा�न

Candidate Answer: [ NOT ANSWERED ]
 
QID : 62 - The sum of all prime numbers between 30 and 42 is

30 और 42 के बीच क� सभी अ�वभा�य सं�या� का योग �या है?
Options:
1) 103

2) 109

3) 105

4) 104
Correct Answer: 109
Candidate Answer: 109
 
QID : 63 - The curved surface area of a hemisphere is 2772 sq cm and volume is 19404 cubic cm, what is its radius? (Take π = 22/7)

एक अ��गोल के घुमावदार सतह का �े�फल 2772 वग� से.मी. है और आयतन 19404 घन से.मी. है, इसक� ���या �या है? (π = 22/7 ली�जये)
Options:
1) 42 cms
42 से.मी.
2) 21 cms
21 से.मी.
3) 10.5 cms
10.5 से.मी.
4) 31.5 cms
31.5 से.मी.
Correct Answer: 21 cms
21 से.मी.
Candidate Answer: 21 cms
21 से.मी.
 



QID : 64 - If cosC - cosD = x, then value of x is

य�द cosC - cosD = x, तो x का मान � या है ?
Options:
1) 2sin[(C+D)/2]cos[(C-D)/2]

2) 2cos[(C+D)/2]sin[(C-D)/2]

3) 2sin[(C+D)/2]sin[(D-C)/2]

4) 2cos[(C+D)/2]cos[(C-D)/2]
Correct Answer: 2sin[(C+D)/2]sin[(D-C)/2]
Candidate Answer: 2sin[(C+D)/2]cos[(C-D)/2]
 
QID : 65 - The value of x for which the expressions 12 - 6x and 4x + 2 become equal is

x का मान �या है, �जसके �लए समीकरण 12 - 6x और 4x + 2 बराबर ह�गे?
Options:
1) 0
2) 2
3) 1
4) 4
Correct Answer: 1
Candidate Answer: 1
 
QID : 66 - Δ DEF and Δ GHI are similar triangles. Length of DE is 4 cm and length of the corresponding side GH is 9 cm. What is the ratio of areas of Δ DEF and ΔGHI?

Δ DEF और Δ GHI सम�प ��भुज है। DE क� लंबाई 4 से.मी. है और संगत भुजा GH क� लंबाई 9 से.मी. है। Δ DEF और Δ GHI के �े�फल� का अनुपात �या है?
Options:
1) 81:16
2) 4:9
3) 16:81
4) 9:4
Correct Answer: 16:81
Candidate Answer: 16:81
 
QID : 67 - To travel 816 km, an Express train takes 9 hours more than Rajdhani. If however, the speed of the Express train is doubled, it takes 4 hours less than
Rajdhani. What is the speed of Rajdhani?

816 �क.मी. क� या�ा करने के �लए एक ए�स�ेस �ेन राजधानी से 9 घंटे अ�धक लेती है। य�द �फर ए�स�ेस �ेन क� ग�त �गुनी कर द� जाती है, तो वह राजधानी क� तुलना म� 4 घंटे कम समय लेती है। राजधानी क�
ग�त �या है?
Options:
1) 48 km/hr
48 �क.मी./घंटा
2) 62.8 km/hr
62.8 �क.मी./घंटा
3) 33.2 km/hr
33.2 �क.मी./घंटा
4) 77.5 km/hr
77.5 �क.मी./घंटा

Correct Answer: 48 km/hr
48 �क.मी./घंटा

Candidate Answer: [ NOT ANSWERED ]
 
QID : 68 - What would be the equation of the line, which intercepts x-axis at -5 and is perpendicular to the line y = 2x + 3?

उस रेखा का समीकरण �या है, जो x-अ� को -5 पर काटती है और रेखा y = 2x + 3 पर एक लंब है?
Options:
1) x - 2y = -5
2) x + 2y = 5
3) x + 2y = -5
4) x - 2y = 5
Correct Answer: x + 2y = -5
Candidate Answer: [ NOT ANSWERED ]
 

QID : 69 - If 4pxy = (x + 2y)2 - (x - 2y)2, then what will be the value of p?

य�द 4pxy = (x + 2y)2 - (x - 2y)2  है, तो p का मान �या होगा? 

Options:
1) 0.5
2) 0.25
3) 4
4) 2
Correct Answer: 2
Candidate Answer: 2



 
QID : 70 - In the first 26 overs of a cricket match, the run rate was 5.4 runs/over. What is the required run rate in the remaining 24 overs to reach the target of 294
runs?

एक ��केट मैच के पहल े26 ओवर म� रन रेट 5.4 रन/ओवर था। शेष 24 ओवर� म� 294 रन के ल�य तक प�ँचन ेके �लए अपे��त रन रेट �या होगा?
Options:
1) 7
2) 6.4
3) 7.6
4) 5.8
Correct Answer: 6.4
Candidate Answer: 6.4
 
QID : 71 - What is the value of tan -5π/6?

tan -5π/6 का मान � या है?
Options:
1) -1/√3
2) 1/√3
3) √3
4) -√3
Correct Answer: 1/√3
Candidate Answer: 1/√3
 
QID : 72 - 

Options:
1) 3920004

2) 220000

3) 228000

4) 435556
Correct Answer: 435556
Candidate Answer: 435556
 



QID : 73 - 

Options:
1) 2013 & 2014
2013 एवं 2014
2) 2013 & 2015
2013 एवं 2015
3) 2011 & 2012
2011 एवं 2012
4) 2014 & 2015
2014 एवं 2015
Correct Answer: 2013 & 2014
2013 एवं 2014
Candidate Answer: 2013 & 2014
2013 एवं 2014
 
QID : 74 - 

 
Options:
1) Profit of Rs 30 crores
30 करोड़ � का लाभ
2) Loss of Rs 20 crores
20 करोड़ � का नुकसान
3) Loss of Rs 30 crores
30 करोड़ � का नुकसान
4) Profit of Rs 20 crores
20 करोड़ � का लाभ

Correct Answer: Profit of Rs 20 crores
20 करोड़ � का लाभ

Candidate Answer: Profit of Rs 20 crores
20 करोड़ � का लाभ

 



QID : 75 - 

Options:
1) 23.46 percent
23.46 ��तशत
2) 25.96 percent
25.96 ��तशत
3) 18.46 percent
18.46 ��तशत
4) 20.96 percent
20.96 ��तशत

Correct Answer: 20.96 percent
20.96 ��तशत

Candidate Answer: 20.96 percent
20.96 ��तशत

 
QID : 76 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase. 

Open to more than one interpretation; not having one obvious meaning.
Options:
1) trite
2) opposite
3) exceptional
4) ambiguous
Correct Answer: ambiguous
Candidate Answer: ambiguous
 
QID : 77 - Select the word with the correct spelling.
Options:
1) humanoide
2) rikshaw
3) deviance
4) virtuos
Correct Answer: deviance
Candidate Answer: rikshaw
 
QID : 78 - Select the antonym of 

vibrant
Options:
1) drab
2) gaudy
3) jazzy
4) vivid
Correct Answer: drab
Candidate Answer: [ NOT ANSWERED ]
 
QID : 79 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option. 

If you are caught using a calculator in the exam then it will be ______________.



Options:
1) taken
2) confiscated
3) confisticate
4) under possession
Correct Answer: confiscated
Candidate Answer: [ NOT ANSWERED ]
 
QID : 80 - In the following question, a sentence has been given in Direct/Indirect speech. Out of the four alternatives suggested, select the one which best express the
same sentence in Indirect/Direct speech. 

"Please don't hit me" Rita said to the attacker.
Options:
1) Rita begged the attacker to not to hit her.
2) Rita told the attacker to not hit her.
3) Rita begged the attacker not to hit her.
4) Rita pleaded with the attacker to not to hit her.
Correct Answer: Rita begged the attacker not to hit her.
Candidate Answer: Rita begged the attacker to not to hit her.
 
QID : 81 - Select the synonym of

dignity
Options:
1) decency
2) immoral
3) primacy
4) chagrin
Correct Answer: decency
Candidate Answer: [ NOT ANSWERED ]
 
QID : 82 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select 'No Error'.

Indian Defence forces(A)/fought the enemy(B)/till the last soldier was standing.(C)/No error(D)
Options:
1) A
2) B
3) C
4) D
Correct Answer: A
Candidate Answer: A
 
QID : 83 - Choose the synonym of

defecate
Options:
1) chaff
2) quench
3) ingest
4) secrete
Correct Answer: secrete
Candidate Answer: secrete
 
QID : 84 - Select the word with the correct spelling.
Options:
1) bargundy
2) panacea
3) revolwer
4) cantinue
Correct Answer: panacea
Candidate Answer: revolwer
 
QID : 85 - In the following question, the sentence given with blank to be filled in with an appropriate word. Select the correct alternative out of the four and indicate it
by selecting the appropriate option. 

_______ and my younger brother went to the movies all by ourselves.
Options:
1) I
2) Mine
3) Myself
4) My own self
Correct Answer: I
Candidate Answer: [ NOT ANSWERED ]
 



QID : 86 - Rearrange the parts of the sentence in correct order 

The truth about these 
P-communities is that 
Q-they deserve to die 
R-dysfunctional, downscale
Options:
1) PQR
2) QPR
3) RPQ
4) RQP
Correct Answer: RPQ
Candidate Answer: PQR
 
QID : 87 - Improve the bracketed part of the sentence. 

The unfortunate old man was knocked (away by) the rash driver.
Options:
1) out by
2) off by
3) by
4) no improvement
Correct Answer: out by
Candidate Answer: [ NOT ANSWERED ]
 
QID : 88 - In the following question, out of the four alternatives, select the alternative which is the best substitute of the phrase 

Something widely feared as a possible dangerous occurrence.
Options:
1) spectre
2) beguile
3) monolith
4) canny
Correct Answer: spectre
Candidate Answer: spectre
 
QID : 89 - In the following question, some part of the sentence may have errors. Find out which part of the sentence has an error and select the appropriate option. If a
sentence is free from error, select 'No Error'.

The landlord could not(A)/tell which of the servant(B)/broke the glass.(C)/No error(D)
Options:
1) A
2) B
3) C
4) D
Correct Answer: B
Candidate Answer: [ NOT ANSWERED ]
 
QID : 90 - Improve the bracketed part of the sentence. 

One should get (trained) to prepare one's own breakfast.
Options:
1) habituated
2) used
3) prepared
4) no improvement
Correct Answer: used
Candidate Answer: [ NOT ANSWERED ]
 
QID : 91 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase. 

Mrs. Vaijanthi teaches us literature.
Options:
1) We have been taught literature by Mrs. Vaijanthi.
2) Literature is being taught by Mrs. Vaijanthi to us.
3) Literature is being taught to us by Mrs. Vaijanthi.
4) Literature is taught by Mrs. Vaijanthi to us.
Correct Answer: Literature is being taught to us by Mrs. Vaijanthi.
Candidate Answer: Literature is being taught to us by Mrs. Vaijanthi.
 
QID : 92 - Select the antonym of

deep-seated



Options:
1) chronic
2) temporary
3) inbred
4) subconscious
Correct Answer: temporary
Candidate Answer: temporary
 
QID : 93 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase.

Zero tolerance
Options:
1) Accuracy is paramount
2) Non-acceptance of antisocial behaviour
3) No return without risk
4) No problem at all
Correct Answer: Non-acceptance of antisocial behaviour
Candidate Answer: Accuracy is paramount
 
QID : 94 - Rearrange the parts of the sentence in correct order. 

Do not be anxious about 
P-thanksgiving, present your requests to God 
Q-and petition, with 
R-anything, but in every situation, by prayer
Options:
1) PRQ
2) PQR
3) QRP
4) RQP
Correct Answer: RQP
Candidate Answer: PQR
 
QID : 95 - In the following question, out of the four alternatives, select the alternative which best expresses the meaning of the idiom/phrase. 

Variety is the spice of life
Options:
1) New experiences make life more interesting
2) Experimentation may be risky
3) Life is very beautiful
4) There is no life without excitement
Correct Answer: New experiences make life more interesting
Candidate Answer: New experiences make life more interesting
 
QID : 96 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives. 

Potholes and _____________ placed speed breakers of all shapes and sizes on city streets have become a health ______________ for two-wheeler riders. From cuts and
bruises, wounds, and a visit to the emergency room to serious and ______________ back and neck-related complications, potholes have become an _______________
for those on the road. Doctors report an increase in patients with injuries and serious bone-related __________________ in the monsoon.

Potholes and _____ placed speed breakers
Options:
1) haphazardly
2) accidently
3) casually
4) randomly
Correct Answer: haphazardly
Candidate Answer: haphazardly
 
QID : 97 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives. 

Potholes and _____________ placed speed breakers of all shapes and sizes on city streets have become a health ______________ for two-wheeler riders. From cuts and
bruises, wounds, and a visit to the emergency room to serious and ______________ back and neck-related complications, potholes have become an _______________
for those on the road. Doctors report an increase in patients with injuries and serious bone-related __________________ in the monsoon.

a health ______________ for two-wheeler riders.
Options:
1) risk
2) threat
3) danger
4) hazard
Correct Answer: hazard
Candidate Answer: threat
 



QID : 98 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives. 

Potholes and _____________ placed speed breakers of all shapes and sizes on city streets have become a health ______________ for two-wheeler riders. From cuts and
bruises, wounds, and a visit to the emergency room to serious and ______________ back and neck-related complications, potholes have become an _______________
for those on the road. Doctors report an increase in patients with injuries and serious bone-related __________________ in the monsoon.

to serious and ______________ back and neck-related complications
Options:
1) chronic
2) painful
3) hurtful
4) terrible
Correct Answer: chronic
Candidate Answer: painful
 
QID : 99 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives. 

Potholes and _____________ placed speed breakers of all shapes and sizes on city streets have become a health ______________ for two-wheeler riders. From cuts and
bruises, wounds, and a visit to the emergency room to serious and ______________ back and neck-related complications, potholes have become an _______________
for those on the road. Doctors report an increase in patients with injuries and serious bone-related __________________ in the monsoon.

potholes have become an _______________
Options:
1) health risk
2) dangerous situation
3) imminent threat
4) epidemic
Correct Answer: imminent threat
Candidate Answer: epidemic
 
QID : 100 - In the following passage some of the words have been left out. Read the passage carefully and select the correct answer for the given blank out of the four
alternatives. 

Potholes and _____________ placed speed breakers of all shapes and sizes on city streets have become a health ______________ for two-wheeler riders. From cuts and
bruises, wounds, and a visit to the emergency room to serious and ______________ back and neck-related complications, potholes have become an _______________
for those on the road. Doctors report an increase in patients with injuries and serious bone-related __________________ in the monsoon.

serious bone-related __________________ in the monsoon.
Options:
1) confusions
2) complications
3) complexities
4) difficulties
Correct Answer: complications
Candidate Answer: complexities
 

 




